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CCNP 642-832 TSHOOT Multiple Choice Questions

	In this post, You can find the CCNP 642-832 TSHOOT Exam Multiple Choice Questions.   And in the real exam, you will get 2-10

questions from those three. (If you got new one, plz contact us, thanks.)  CCNP 642-832 TSHOOT Exam:  + About 2 ? 10

Multichoice Questions    + About 1- 2 Drag and Drop Questions     + 16 Lab-Sim Questions with the same network topology  

Question 1  FCAPS is a network maintenance model defined by ISO. What does it stand for?  A. Action Management   B. Fault

Management    C. Configuration Management    D. Protocol Management    E. Security Management  Answer: B C E (Fault,

Configuration & Security Management) Notice that A stands for Accounting, not Action.  Question 2  Which alerts will be seen on

the console when running the command: logging console warnings.  A. warnings only   B. warnings, notifications, error, debugging,

informational    C. warnings, errors, critical, alerts, emergencies    D. notifications, warnings, errors    E. warnings, errors, critical,

alerts  Answer: C&#160; (warning, critical, alert, emergencies)  Explanation  The Message Logging is divided into 8 levels as listed

below  

   The highest level is level 0 (emergencies). The lowest level is level 7. If you specify a level with the ?logging console level?

command, that level and all the higher levels will be displayed. For example, by using the ?logging console warnings? command, all

the logging of emergencies, alerts, critical, errors, warnings will be displayed.  In this question, E is also correct but it is less

information -> C is the best answer.  Question 3  You have 2 commands used for ftp:   ip ftp username xxxxxx    ip ftp password

yyyyyy  Which two commands will be used when switching from ftp to http?  Answer:   ip http client username xxxxxx    ip http

client password yyyyyy  Question 4  Which two of the following options are categories of Network Maintenance tasks?  A.

Firefighting   B. Interrupt-driven    C. Policy-based    D. Structured    E. Foundational  Answer: B D  Question 5  The following

commands are issued on a Cisco router:  Router(config)#access-list 199 permit tcp host 10.1.1.1 host 172.16.1.1  

Router(config)#access-list 199 permit tcp host 172.16.1.1 host 10.1.1.1    Router#debug ip packet 199  What would be the output

shown on the console?  A. All IP packets passing through the router   B. Only IP packets with the source address of 10.1.1.1    C. All

IP packets from 10.1.1.1 to 172.16.1.1    D. All IP packets between 10.1.1.1 to 172.16.1.1  Answer: D  Only communication between

host 10.1.1.1 and host 172.16.1.1  Question 6   You have two NTP servers 10.1.1.1 & 10.1.1.2 and want to configure a router to use

10.1.1.2 as its NTP server before falling back to 10.1.1.1. Which command will you use?  Answer:  ntp server 10.1.1.1   ntp server

10.1.1.2 prefer  (notice the answer with the word ?prefer?)  Question 7   The interface is up and protocol is up. What level of logging

is enabled when you get these messages?  %LINEPROTO?5?UPDOWN: Line protocol on Interface FastEthernet0/1, changed state

to up    %LINKDOWN?3?SERIAL:  A. alerts   B. errors    C. critical    D. notifications  Answer: D  Question 8   Two Cisco routers

are connected to each other and are enabled CDP. Serial line is up,protocol is also up but cdp neighbor not working. What layer of

the OSI model does the problem most likely exist?  Answer:  Data link layer.
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